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' FIFTH SEMESTER B.Sc. DEGREE EXAMINATION, NOVEMBER 2018
(CUGBCSS—UG) RN
p Compﬁter Science

BCS 5B 09—JAVA PROGRAMMING

" Time : Three Hours .- . S TE .7 Maximum: 80 Marks
ki ‘Part A
Answer ajl questions.

“Each qruestion' carries 1 mark.®

1. In OOP data and methods are enclased ina

(a) Package (), Object

(¢) Class. ' oy {d) s None of the above.
2. Which property enables the use of pred@ﬁnbd code in OOP ?

() Encapsulation. A4 (b Abstraction.

(¢) Inheritance. __ (d) Pulymorphlsm
3. Which of the followmg is: nut a prm‘utwa data t.}'pe ?

(a) Boolean - (b) Eyte |

(¢) String. ' ' . (d) Dauble.

4. Subclass is also called as

(a) Base class: (h). Sﬁperclass

(c) Derived class. - o (d) None of the above'
' 5 -If_a class declared as ————— s 1I; cannot be mhented
- “(a) Abstract. | _ " (b) Final, -
_ (¢) Extends.. . | » (d)  None of these
: e 6 ".-——_ is not a vahd jump statoment in Java, ' .
' (a) Return. - ... . (b) Goto
(c) Continue. - (tl) Brunk

" 7 ,Whlch of the followmg doean‘t. have a mpnrclnss 7.
(ﬂ) Syst.em S B A L) Object : S S
(c) Forname 0 R S f.d_) .Exce.tptl_on_.r N ;
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What is tjpe casting?
‘What is this operator ?-

What is a byte Btream ?

Which one is not a method of class object ? - -
(a) toStrmg 0 B ' (SJ getCIess().-'.
(c) Extends. £ (@ 'None of these.

Nextint() method belongs to the class .
(a) Math. (b) Random :

(c) Integer. . . 5 (d) Number. P
When we invoke the repamt() method for a component ‘the A'WT mvokes whxch of the follewmg :

' methode ?

(@) Draw(). . . .‘ ~.(b) Show().

(c) Update(). : -~ (d) Paint(). _ st
' - - | o0 (10x1=10marks) -
Answer ali,gﬂe.stwns

Each quest:op. enrnes 2 marks.

Whatxsathread'? N
leferenhate between equals() and ==,

N (5% 2=10marks)

_ Part C (Short Essays) L s e 1 -
Answer any five questions. -

Each question carries 4 marks.

. What are the uses ofsuperkeyword'? S FA T B -
. -Wnte a java program to lmplement mult1level inheritance . -

3 -‘Wlth example explain parameter passmg mechamsm to J ava.r

. .'.HOW event handlmg is done in Java ? -." e o 2 ‘, - ” _:-_--_ -.'_.: M 3 : f
ExPlam Applet skeleton with example TR e

. Explam try——catch—ﬁnally statement I P L B
22 Wnte the syntax of switch statement w1th example el
Explﬂm EQL Exceptmn elass A ; |
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“Explain object and class concepts in Java. : \l\s ;
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‘Part D (Essays) 5 it

Answer any five questions.
Each question carries 8 marks.

Explu.m Transactnon Mnnngement LT e

Explain user defined excephon with an example.

Explain Command Line Arguments with an example. =3

Cn
Explain with example method overluaﬂmg an%@tmctor overlnadmg

What is an array ? What are the types nﬂ@ supported in Java ?
What is mhentance ? Explmn the %ﬂ forms uf inheritance.

leferentmte between Fluwlay{zg rdérla_wou!. and Grid]ayout. | . B ;o
%) S . (5 x 8 = 40 marks)




